



On r -Bell-Based Apostol-Frobenius-Type Poly-Euler Polynomials

Roberto B. Corcino^{1,2}, Cristina B. Corcino^{1,2}, Rodin Paspasan^{1,2}, Ronald Alambra^{1,2}

¹ *Research Institute for Computational Mathematics and Physics, Cebu Normal University, 6000 Cebu City, Philippines*

² *Mathematics Department, Cebu Normal University, 6000 Cebu City, Philippines*

Abstract. This paper introduces a novel variation of Frobenius-Euler polynomials derived from Bell numbers and Apostol-type functions, incorporating the polylogarithm concept. We explore their structure and properties through various analytical methods, with a particular emphasis on generating functions designed for higher-order Apostol-Frobenius-Type Poly-Euler polynomials based on Bell numbers. These functions facilitate the derivation of both explicit and implicit summation formulas. Furthermore, we establish symmetric identities that unveil intricate polynomial relationships. This integration provides a new framework that deepens the understanding and expands the applicability of Poly-Euler polynomials. Our findings contribute to combinatorial and algebraic mathematics, fostering further research in related areas.

2020 Mathematics Subject Classifications: 05A15, 11B68; 11B73, 26C05, 33B10

Key Words and Phrases: Bell Polynomials, Apostol-Type Frobenius-Euler Polynomials, Bell-Based Apostol-Type Frobenius-Euler Polynomials, Stirling Numbers, Polylogarithm

1. Introduction

In recent years, a growing number of authors [1-4] have explored the use of generating functions to introduce new families of special polynomials, including two-parameter versions of well-known polynomials such as Bernoulli, Euler, and Genocchi polynomials.

This approach enables researchers to uncover new properties for these polynomial families, which often involve relationships between trigonometric functions and other parametric forms of special polynomials. By applying partial differentiation to these generating functions, additional derivative formulas can be derived, as well as finite combinatorial sums associated with these polynomials and their related numerical sequences. Furthermore, these special polynomials provide an accessible means to derive various useful mathematical identities.

DOI: <https://doi.org/10.29020/nybg.ejpam.v18i3.6165>

Email addresses: rcorcino@yahoo.com (R. Corcino), corcinoc@cnu.edu.ph (C. Corcino), paspasan@cnu.edu.ph (R. Paspasan), alamrar@cnu.edu.ph (R. Alambra)

A notable example is the Apostol-type Frobenius-Euler polynomials, which are significant in combinatorial mathematics and hold an essential place in mathematical theory and applications. These polynomials have inspired a wide range of theoretical developments and are the subject of extensive research in combinatorics, yielding numerous intriguing findings (see, for example, [5-10] and references therein).

The Apostol-type Frobenius-Euler polynomials $E_j^{(\alpha)}(\xi; u; \lambda)$ of order α are defined by (see[7, 8]):

$$\left(\frac{1-u}{\lambda e^z - u}\right)^\alpha e^{\xi z} = \sum_{j=0}^{\infty} E_j^{(\alpha)}(\xi; u; \lambda) \frac{z^j}{j!}, \quad (1.1)$$

$$\left(\alpha, \xi, \lambda \in \mathbb{C}, u \in \mathbb{C} \setminus \{1\}, \lambda \neq u, |z| < \left|\operatorname{Log}\left(\frac{u}{\lambda}\right)\right|\right)$$

and $e^{\xi z}$ is an entire function of z for any $\xi \in \mathbb{C}$. At the point $\xi = 0$, $E_j^{(\alpha)}(u; \lambda) = E_j^{(\alpha)}(0; u; \lambda)$ are called the Apostol-type Frobenius-Euler numbers of order α . From (1), we find

$$E_j^{(\alpha)}(\xi; u; \lambda) = \sum_{v=0}^j \binom{j}{v} E_v^{(\alpha)}(u; \lambda) \xi^{j-v} \quad (2)$$

and

$$E_j^\alpha(\xi; -1; \lambda) = E_j^{(\alpha)}(\xi; \lambda) \quad (3)$$

where $E_j^{(\alpha)}(\xi; \lambda)$ are the j^{th} Apostol-Euler polynomials of order α . When $u = -1$, (1.1) will reduce to the Apostol-type Euler polynomials:

$$\left(\frac{2}{\lambda e^z + 1}\right)^\alpha e^{\xi z} = \sum_{j=0}^{\infty} E_j^{(\alpha)}(\xi; \lambda) \frac{z^j}{j!}, \quad (1.2)$$

It is worth-mentioning that (1.1) is a special case of the generalized Apostol type Frobenius-Euler polynomials of Kurt and Simsek [35]. Moreover, mixing the Frobenius-Euler polynomials with the concept of polylogarithm $\operatorname{Li}_k(z)$ [14]

$$\operatorname{Li}_k(z) = \sum_{n=0}^{\infty} \frac{z^n}{n^k}, k \in \mathbb{Z}, \quad (1.3)$$

yields the Frobenius-type poly-Euler polynomials, which are defined as follows

$$\sum_{n=0}^{\infty} E_n^{(k)}(x; u, \lambda) \frac{t^n}{n!} = \frac{\operatorname{Li}_k(1 - e^{(1-u)})}{\lambda e^t - u} e^{xt}, \quad (1.4)$$

such that when $k = 1$, $\operatorname{Li}_1(1 - e^{(1-u)}) = -\ln(1 - (1 - e^{-(1-u)})) = -\ln(e^{-(1-u)}) = 1 - u$ and so (1.4) gives (1.1).

For $j \geq 0$, the Stirling numbers of the first kind are defined by

$$(\xi)_j = \sum_{p=0}^j S_1(j, p) \xi^p, \quad (4)$$

where $(\xi)_0 = 1$, and $(\xi)_j = \xi(\xi - 1) \cdots (\xi - j + 1)$, $(j \geq 1)$. From (4), we obtain

$$\frac{1}{r!} (\text{Log}(1 + z))^r = \sum_{j=r}^{\infty} S_1(j, r) \frac{z^j}{j!}, \quad (r \geq 0). \quad (5)$$

For $j \geq 0$, the Stirling numbers of the second kind are defined by

$$\xi^j = \sum_{q=0}^j S_2(j, q) (\xi)_q \quad (6)$$

From (6), we see that

$$\frac{1}{r!} (e^z - 1)^r = \sum_{j=r}^{\infty} S_2(j, r) \frac{z^j}{j!} \quad (7)$$

For any nonnegative integer r , the r -Stirling numbers $S_r(j, k)$ of the second kind are defined by (see[11])

$$\frac{1}{k!} e^{rz} (e^z - 1)^k = \sum_{j=k}^{\infty} S_r(j + r, k + r) \frac{z^j}{j!}. \quad (8)$$

For any positive integer m , the r -Whitney numbers $W_{m,r}(j, k)$ of the second kind are defined by (see[12, 12])

$$\frac{1}{m^k k!} e^{rz} (e^{mz} - 1)^k = \sum_{j=k}^{\infty} W_{m,r}(j, k) \frac{z^j}{j!}. \quad (9)$$

The Bell polynomials $B_j(\xi)$ are defined by the generating function(see[14,15])

$$e^{\xi(e^z - 1)} = \sum_{k=0}^{\infty} B_k(\xi) \frac{z^k}{k!}. \quad (13)$$

When $\xi = 1$, $B_j = B_j(1)$, $(j \geq 0)$ are called the Bell numbers. From (7) and (13), we note that

$$B_j(\xi) = \sum_{k=1}^j S_2(j, k) \xi^k \quad (j \geq 0) \quad (14)$$

Recently, Duran et al. [12], introduced the Bell polynomials $B_j(\xi; \eta)$ of two variable defined by the generating function

$$e^{\xi z + \eta(e^z - 1)} = \sum_{j=0}^{\infty} B_j(\xi; \eta) \frac{z^j}{j!}. \quad (1.5)$$

This is exactly the exponential generating of r -Bell polynomials of Mezo [25, 26], which is given by

$$e^{rz+x(e^z-1)} = \sum_{n=0}^{\infty} B_{n,r}(x) \frac{z^n}{n!},$$

where

$$B_{n,r}(x) = \sum_{j=0}^n B_{n,r} x^j, \quad B_{n,r} = \sum_{i=0}^n \left\{ \begin{matrix} n \\ i \end{matrix} \right\}_r,$$

with $B_{n,r}$ and $\left\{ \begin{matrix} n \\ i \end{matrix} \right\}_r$ are called the r -Bell numbers and r -Stirling numbers of the second kind, respectively. By taking $\xi = r$, we have

$$B_n(r; \eta) = B_{n,r}(\eta).$$

From (1.5), Alam et al. [3] defined bivariate Bell-based Apostol-Frobenius-type Euler Polynomials denoted by ${}_{Bell}\mathbb{H}_n(x, y; \mu, \lambda)$ as follows

$$\sum_{n=0}^{\infty} {}_{Bell}\mathbb{H}_n(x, y; u, \lambda) \frac{t^n}{n!} = \left(\frac{1-u}{\lambda e^t - u} \right)^\alpha e^{xt+y(e^t-1)} \quad (1.6)$$

The manuscript of this paper is arranged as follows: In Section 2, we introduce r -Bell-based Apostol-type Frobenius-Euler numbers and polynomials and investigate some properties of these numbers and polynomials. In Section 3, we derive summation formulas of Apostol-type Frobenius-Euler numbers and polynomials, connected with Apostol-type Bernoulli, Euler, and Genocchi polynomials. In Section 4, we prove several identities of Apostol-type Frobenius-Euler polynomials by using different analytical means and applying generating functions.

2. r -Bell-Based Apostol-Frobenius-Type Poly-Euler Polynomials

$${}_B E_j^{(\alpha)}(r, y; u; \lambda)$$

In this section, we introduce the r -Bell-based Apostol-type Frobenius-Euler polynomials, denoted as ${}_B E_j^{(\alpha)}(r, y; u; \lambda)$, and present an explicit formula for these polynomials. Additionally, we explore their fundamental properties. We begin with the following definition.

Definition 2.1. The r -Bell-based Apostol-Frobenius-Type Poly-Euler Polynomials ${}_B E_j^{(k, \alpha)}(r, y; u; \lambda)$ of order α are defined by means of the following generating function:

$$\left(\frac{Li_k(1 - e^{-(1-u)})}{\lambda e^t - u} \right)^\alpha e^{rt+y(e^t-1)} = \sum_{j=0}^{\infty} {}_B E_j^{(k, \alpha)}(r, y; u; \lambda) \frac{t^j}{j!}, \quad (2.1)$$

where

$$(\alpha, r, y, \lambda \in C \setminus \{1\}, \lambda \neq u, |t|) \left| \text{Log} \left(\frac{u}{\lambda} \right) \right|.$$

Remark 2.2. When $k = 1$, (2.1) reduces to

$$\begin{aligned} \sum_{j=0}^{\infty} {}_B E_j^{(k,\alpha)}(r, y; u; \lambda) \frac{t^j}{j!} &= \left(\frac{Li_1(1 - e^{-(1-u)})}{\lambda e^t - u} \right)^{\alpha} e^{rt+y(e^t-1)} \\ &= \left(\frac{-\ln(1 - (1 - e^{-(1-u)}))}{\lambda e^t - u} \right)^{\alpha} e^{rt+y(e^t-1)} \\ &= \left(\frac{1 - u}{\lambda e^t - u} \right)^{\alpha} e^{rt+y(e^t-1)}. \end{aligned}$$

This is exactly the bivariate Bell-Based Apostol-Frobenius-Type Poly-Euler Polynomials introduced by Alam et al. [3]. That is, by (1.6)

$${}_{Bell} \mathbb{H}_n(r, y; u, \lambda) = {}_B E_j^{(1,\alpha)}(r, y; u; \lambda).$$

Remark 2.3. On taking $r = 0$ in (2.1), we obtain new type Bell-based Apostol-Frobenius-Type Poly-Euler polynomials ${}_B E_j^{(k,\alpha)}(y; u; \lambda)$

$$\left(\frac{Li_k(1 - e^{-(1-u)})}{\lambda e^t - u} \right)^{\alpha} e^{y(e^t-1)} = \sum_{j=0}^{\infty} {}_B E_j^{(k,\alpha)}(y; u; \lambda) \frac{t^j}{j!}. \quad (2.2)$$

We call $E_j^{(k,\alpha)}(y; u; \lambda)$ the Bell-based Apostol-Frobenius-type poly-Euler polynomials. Moreover, when $k = 1$, we have

$$\begin{aligned} \sum_{j=0}^{\infty} {}_B E_j^{(k,\alpha)}(y; u; \lambda) \frac{t^j}{j!} &= \left(\frac{Li_1(1 - e^{-(1-u)})}{\lambda e^t - u} \right)^{\alpha} e^{y(e^z-1)} \\ &= \left(\frac{-\ln(1 - (1 - e^{-(1-u)}))}{\lambda e^t - u} \right)^{\alpha} e^{y(e^z-1)} \\ &= \left(\frac{1 - u}{\lambda e^t - u} \right)^{\alpha} e^{y(e^z-1)}, \end{aligned}$$

where ${}_{Bell} \mathbb{H}_n(y; u, \lambda) = {}_B E_j^{(1,\alpha)}(y; u; \lambda)$, the Bell-based Apostol-Frobenius-type Euler polynomials.

Remark 2.4. Upon setting $y = 0$ in (2.1), the r -Bell-based Apostol-Frobenius-type poly-Euler polynomials ${}_B E_j^{(k,\alpha)}(r, y; u; \lambda)$ of order α reduces to familiar Apostol-Frobenius-type poly-Euler polynomials ${}_B E_j^{(k,\alpha)}(r; u; \lambda)$ of order α

Remark 2.5. When $y = 0$ and $\alpha = 1$, r -Bell-based Apostol-Frobenius-type poly-Euler polynomials ${}_B E_j^{(k,\alpha)}(r, y; u; \lambda)$ of order α reduce to the usual Frobenius-Euler polynomials $E_j(r; u; \lambda)$.

We note that

$${}_B E_j^{(k,1)}(r, 0; u; \lambda) = {}_B E_j^{(k)}(r; u; \lambda). \quad (2.3)$$

The following theorem contains a summation formula relating ${}_B E_n^{(r)}(r, y; u, \lambda)$ with $E_k^{(r)}(r; u, \lambda)$ and $B_n(y)$

Theorem 2.6. *The r -Bell-based Apostol-Frobenius-Type Poly-Euler polynomials ${}_B E_j^{(\alpha)}(r, y; u; \lambda)$ of order α satisfy the following summation identity*

$${}_B E_j^{(k, \alpha)}(r, y; u; \lambda) = \sum_{j=0}^n \binom{n}{k} E_j^{(k, \alpha)}(r; u; \lambda) B_{n-j}(y).$$

Proof. Using (2.1), we have

$$\begin{aligned} \sum_{j=0}^{\infty} {}_B E_j^{(k, \alpha)}(r, y; u; \lambda) \frac{t^j}{j!} &= \left\{ \left(\frac{Li_k(1 - e^{-(1-u)})}{\lambda e^t - u} \right)^{\alpha} e^{rt} \right\} e^{y(e^t - 1)} \\ &= \left(\sum_{n=0}^{\infty} E_j^{(k, \alpha)}(r; u; \lambda) \frac{t^n}{n!} \right) \left(\sum_{n=0}^{\infty} B_n(y) \frac{t^n}{n!} \right) \\ &= \sum_{n=0}^{\infty} \left\{ \sum_{j=0}^n \binom{n}{k} E_j^{(k, \alpha)}(r; u; \lambda) B_{n-j}(y) \right\} \frac{t^n}{n!}. \end{aligned}$$

Comparing the coefficients of $t^n/n!$ completes the proof of the theorem.

The next theorem expresses ${}_B E_n^{(k, \alpha)}(r, y; u, \lambda)$ as polynomial in r with ${}_B E_{n-k}^{(k, \alpha)}(y; u, \lambda)$ as coefficients.

Theorem 2.7. *The r -Bell-based Apostol-Frobenius-Type Poly-Euler polynomials ${}_B E_j^{(\alpha)}(r, y; u; \lambda)$ of order α satisfy the following summation identity*

$${}_B E_n^{(k, \alpha)}(r, y; u, \lambda) = \sum_{j=0}^n \binom{n}{j} {}_B E_{n-j}^{(k, \alpha)}(y; u; \lambda) r^j$$

Proof. Using (2.1), we have

$$\begin{aligned} \sum_{j=0}^{\infty} {}_B E_j^{(k, \alpha)}(r, y; u; \lambda) \frac{t^j}{j!} &= \left\{ \left(\frac{Li_k(1 - e^{-(1-u)})}{\lambda e^t - u} \right)^{\alpha} e^{y(e^t - 1)} \right\} e^{rt} \\ &= \left(\sum_{n=0}^{\infty} {}_B E_j^{(k, \alpha)}(y; u; \lambda) \frac{t^n}{n!} \right) \left(\sum_{n=0}^{\infty} \frac{(rt)^n}{n!} \right) \\ &= \sum_{n=0}^{\infty} \left\{ \sum_{j=0}^n \binom{n}{j} {}_B E_j^{(k, \alpha)}(y; u; \lambda) r^{n-j} \right\} \frac{t^n}{n!}. \end{aligned}$$

Comparing the coefficients of $t^n/n!$ completes the proof of the theorem.

The following theorem contains the summation formula for ${}_B E_n^{(k, \alpha)}(r, y; u; \lambda)$.

Theorem 2.8. *The r -Bell-based Apostol-Frobenius-Type Poly-Euler polynomials ${}_B E_n^{(k,\alpha)}(r, y; u; \lambda)$ of order α satisfy the following summation identity*

$${}_B E_n^{(r)}(r + y, z; u, \lambda) = \sum_{j=0}^n \binom{n}{j} E_j^{(k,\alpha)}(y; u; \lambda) B_{n-j}(y, z)$$

Proof. Using (2.1), we have

$$\begin{aligned} \sum_{j=0}^{\infty} {}_B E_j^{(k,\alpha)}(r + y, z; u, \lambda) \frac{t^j}{j!} &= \left\{ \left(\frac{Li_k(1 - e^{-(1-u)})}{\lambda e^t - u} \right)^{\alpha} e^{rt} \right\} e^{yt+z(e^t-1)} \\ &= \left(\sum_{n=0}^{\infty} E_j^{(k,\alpha)}(r; u; \lambda) \frac{t^n}{n!} \right) \left(\sum_{n=0}^{\infty} B_n(y, z) \frac{t^n}{n!} \right) \\ &= \sum_{n=0}^{\infty} \left\{ \sum_{j=0}^n \binom{n}{j} E_j^{(k,\alpha)}(y; u; \lambda) B_{n-j}(y, z) \right\} \frac{t^n}{n!}. \end{aligned}$$

Comparing the coefficients of $t^n/n!$ completes the proof of the theorem.

3. Implicit Summation Formula

Theorem 3.1. *The r -Bell-based Apostol-Frobenius-Type Poly-Euler polynomials ${}_B E_j^{(\alpha)}(r, y; u; \lambda)$ of order α satisfy the following summation identity*

$$\begin{aligned} &{}_B E_n^{(k,\alpha_1+\alpha_2)}(r_1 + r_2, y_2 + y_2; u, \lambda) \\ &= \sum_{j=0}^n \binom{n}{j} {}_B E_j^{(k,\alpha_1)}(r_1, y_1; u, \lambda) {}_B E_{n-j}^{(k,\alpha_2)}(r_2, y_2; u, \lambda) \end{aligned}$$

Proof. Replacing the parameters α, r and y at the left-hand side of equation (2.1) in Definition 2.1, with $\alpha_1 + \alpha_2, r_1 + r_2$ and $y_1 + y_2$, respectively, we obtain

$$\begin{aligned} &\left(\frac{Li_k(1 - e^{-(1-u)})}{\lambda e^t - u} \right)^{\alpha_1+\alpha_2} e^{(r_1+r_2)t+(y_1+y_2)(e^t-1)} \\ &= \left(\frac{Li_k(1 - e^{-(1-u)})}{\lambda e^t - u} \right)^{\alpha_1} e^{(r_1)t+(y_1)(e^t-1)} \left(\frac{Li_k(1 - e^{-(1-u)})}{\lambda e^t - u} \right)^{\alpha_2} e^{(r_2)t+(y_2)(e^t-1)} \\ &\sum_{n=0}^{\infty} {}_B E_n^{(k,\alpha_1+\alpha_2)}(r_1 + r_2, y_2 + y_2; u, \lambda) \frac{t^n}{n!} \\ &= \left(\sum_{n=0}^{\infty} {}_B E_n^{(k,\alpha_1)}(r_1, y_1; u, \lambda) \frac{t^n}{n!} \right) \left(\sum_{n=0}^{\infty} {}_B E_n^{(k,\alpha_2)}(r_2, y_2; u, \lambda) \frac{t^n}{n!} \right) \end{aligned}$$

$$= \sum_{n=0}^{\infty} \sum_{j=0}^n \binom{n}{j} {}_B E_j^{(k, \alpha_1)}(r_1, y_1; u, \lambda) {}_B E_{n-j}^{(k, \alpha_2)}(r_2, y_2; u, \lambda) \frac{t^n}{n!}.$$

Comparing the coefficients of $\frac{t^n}{n!}$ completes the proof of the theorem.

Taking $\alpha_1 = \alpha, \alpha_2 = 0, r_1 = r, r_2 = 1, y_1 = y, y_2 = 0$, Theorem 3.1 yields

$$\begin{aligned} {}_B E_n^{(k, \alpha)}(r+1, y; u, \lambda) &= \sum_{j=0}^n \binom{n}{j} {}_B E_j^{(k, \alpha)}(r, y; u, \lambda) B_{n-j}(1, 0) \\ &= \sum_{j=0}^n \binom{n}{j} {}_B E_j^{(k, \alpha)}(r, y; u, \lambda). \end{aligned}$$

Theorem 3.2. *The r -Bell-based Apostol-Frobenius-Type Poly-Euler polynomials ${}_B E_j^{(\alpha)}(r, y; u; \lambda)$ of order α satisfy the following implicit summation identity*

$${}_B E_{q+l}^{(k, \alpha)}(r, y; u, \lambda) = \sum_{j,m=0}^{q,l} \binom{q}{j} \binom{l}{m} (r-z)^{q-j+i-m} {}_B E_{q+l}^{(k, \alpha)}(z, y; u, \lambda)$$

Proof. Let us recall the following series manipulation formula:

$$\sum_{N=0}^{\infty} f(N) \frac{(r+y)^N}{N!} = \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} f(n+m) \frac{r^n}{n!} \frac{y^m}{m!}$$

Note that we can rewrite (2.1) as follows:

$$\left(\frac{Li_k(1 - e^{-(1-u)})}{\lambda e^{t+v} - u} \right)^{\alpha} e^{y(e^{t+v}-1)} = e^{-r(t+v)} \sum_{n=0}^{\infty} {}_B E_n^{(k, \alpha)}(r, y; u, \lambda) \frac{(t+v)^n}{n!}.$$

Applying the above series manipulation formula yields

$$\begin{aligned} \left(\frac{Li_k(1 - e^{-(1-u)})}{\lambda e^{t+v} - u} \right)^{\alpha} e^{y(e^{t+v}-1)} &= e^{-r(t+v)} \sum_{j=0}^{\infty} \sum_{l=0}^{\infty} {}_B E_{j+l}^{(k, \alpha)}(r, y; u, \lambda) \frac{t^j}{j!} \frac{v^l}{l!} \\ &= e^{-z(t+v)} \sum_{j=0}^{\infty} \sum_{l=0}^{\infty} {}_B E_{j+l}^{(k, \alpha)}(z, y; u, \lambda) \frac{t^j}{j!} \frac{v^l}{l!} \end{aligned}$$

$$\begin{aligned} \sum_{j,l \geq 0} {}_B E_{j+l}^{(k, \alpha)}(r, y; u, \lambda) \frac{t^j}{j!} \frac{v^l}{l!} &= e^{(r-z)(t+v)} \sum_{j,l \geq 0} {}_B E_{j+l}^{(k, \alpha)}(z, y; u, \lambda) \frac{t^j}{j!} \frac{v^l}{l!} \\ &= \left(\sum_{N=0}^{\infty} (r-z)^N \frac{(t+v)^N}{N!} \right) \left(\sum_{j,l \geq 0} {}_B E_{j+l}^{(k, \alpha)}(z, y; u, \lambda) \frac{t^j}{j!} \frac{v^l}{l!} \right) \end{aligned}$$

$$\begin{aligned}
&= \left(\sum_{n,m \geq 0} (r-z)^{n+m} \frac{t^n v^m}{n! m!} \right) \left(\sum_{j,l \geq 0} {}_B E_{j+l}^{(k,\alpha)}(z, y; u, \lambda) \frac{t^j v^l}{j! l!} \right) \\
&= \sum_{q,l \geq 0} \left\{ \sum_{j,m=0}^{q,l} \binom{q}{j} \binom{l}{m} (r-z)^{q-j+i-m} {}_B E_{q+l}^{(k,\alpha)}(z, y; u, \lambda) \right\} \frac{t^q v^l}{q! l!}.
\end{aligned}$$

Comparing the coefficients of $\frac{t^q v^l}{q! l!}$ completes the proof of the theorem.

Theorem 3.3. *The r -Bell-based Apostol-Frobenius-Type Poly-Euler polynomials ${}_B E_j^{(\alpha)}(r, y; u; \lambda)$ of order α satisfy the following summation identity*

$${}_B E_n^{(k,\alpha)}(r, y; u, \lambda) = \sum_{k=0}^n \sum_{j=0}^{\infty} \binom{n}{k} (r)_j S(k, j) {}_B E_{n-k}^{(k,\alpha)}(y; u, \lambda).$$

Proof.

$$\begin{aligned}
\sum_{n=0}^{\infty} {}_B E_n^{(k,\alpha)}(r, y; u, \lambda) \frac{t^n}{n!} &= \left(\frac{Li_k(1 - e^{-(1-u)})}{\lambda e^t - u} \right)^r e^{rt+y(e^t-1)} \\
&= \left(\frac{Li_k(1 - e^{-(1-u)})}{\lambda e^t - u} \right)^{\alpha} e^{y(e^t-1)} e^{rt} \\
&= \left(\frac{Li_k(1 - e^{-(1-u)})}{\lambda e^t - u} \right)^{\alpha} e^{y(e^t-1)} (1 + e^t - 1)^r \\
&= \left(\sum_{n=0}^{\infty} {}_B E_n^{(k,\alpha)}(y; u, \lambda) \frac{t^n}{n!} \right) \left(\sum_{j=0}^{\infty} \binom{r}{j} (e^t - 1)^j \right) \\
&= \left(\sum_{n=0}^{\infty} {}_B E_n^{(k,\alpha)}(y; u, \lambda) \frac{t^n}{n!} \right) \left(\sum_{j=0}^{\infty} (r)_j \frac{(e^t - 1)^j}{j!} \right) \\
&= \left(\sum_{n=0}^{\infty} {}_B E_n^{(k,\alpha)}(y; u, \lambda) \frac{t^n}{n!} \right) \left(\sum_{j=0}^{\infty} (r)_j \sum_{n=0}^{\infty} S(n, j) \frac{t^n}{n!} \right) \\
&= \left(\sum_{n=0}^{\infty} {}_B E_n^{(k,\alpha)}(y; u, \lambda) \frac{t^n}{n!} \right) \left(\sum_{n=0}^{\infty} \left\{ \sum_{j=0}^{\infty} (r)_j S(n, j) \right\} \frac{t^n}{n!} \right) \\
&= \sum_{n=0}^{\infty} \sum_{k=0}^n \binom{n}{k} \left\{ \sum_{j=0}^{\infty} (r)_j S(k, j) {}_B E_{n-k}^{(k,\alpha)}(y; u, \lambda) \right\} \frac{t^n}{n!}
\end{aligned}$$

$$= \sum_{n=0}^{\infty} \left\{ \sum_{k=0}^n \binom{n}{k} \sum_{j=0}^{\infty} (r)_j S(k, j) {}_B E_{n-k}^{(k, \alpha)}(y; u, \lambda) \right\} \frac{t^n}{n!}.$$

Comparing the coefficients of $t^n/n!$ completes the proof of the theorem.

The next result that we are going to obtain is to express the r -Bell polynomials in terms of the difference of r -Bell-based Apostol-Frobenius-Type Poly-Euler polynomials ${}_B E_j^{(\alpha)}(r, y; u; \lambda)$ of order α .

Theorem 3.4. *The r -Bell-based Apostol-Frobenius-Type Poly-Euler polynomials ${}_B E_j^{(k, 1)}(r, y; u; \lambda)$ satisfy the following relation*

$$B_n(r, y) = \frac{\lambda \cdot {}_B E_{n+1}^{(k, 1)}(r+1, y; u, \lambda) - u \cdot {}_B E_{n+1}^{(k, 1)}(r, y; u, \lambda)}{Li_k(1 - e^{-(1-u)})(n+1)}$$

Proof. By rewriting the definition of r -Bell polynomials, we obtain

$$\begin{aligned} \sum_{n=0}^{\infty} B_n(r, y) \frac{t^n}{n!} &= e^{rt+y(e^t-1)} \\ &= \left(\frac{\lambda e^t - u}{Li_k(1 - e^{-(1-u)})} \right) \left(\frac{Li_k(1 - e^{-(1-u)})}{\lambda e^t - u} e^{rt+y(e^t-1)} \right) \\ &= \frac{1}{Li_k(1 - e^{-(1-u)})} \left(\lambda \left(\frac{Li_k(1 - e^{-(1-u)})}{\lambda e^t - u} e^{(r+1)t+y(e^t-1)} \right) \right. \\ &\quad \left. - u \left(\frac{Li_k(1 - e^{-(1-u)})}{\lambda e^t - u} e^{rt+y(e^t-1)} \right) \right) \\ &= \frac{1}{Li_k(1 - e^{-(1-u)})} \left(\lambda \sum_{n=0}^{\infty} {}_B E_n^{(r)}(r+1, y; u, \lambda) \frac{t^n}{n!} \right. \\ &\quad \left. - u \sum_{n=0}^{\infty} {}_B E_n^{(k, 1)}(r, y; u, \lambda) \frac{t^n}{n!} \right) \\ &= \frac{1}{Li_k(1 - e^{-(1-u)})} \left(\lambda \sum_{n=0}^{\infty} {}_B E_n^{(k, 1)}(r+1, y; u, \lambda) \frac{t^{n-1}}{n!} \right. \\ &\quad \left. - u \sum_{n=0}^{\infty} {}_B E_n^{(k, 1)}(r, y; u, \lambda) \frac{t^{n-1}}{n!} \right) \\ &= \frac{\lambda}{Li_k(1 - e^{-(1-u)})} \sum_{n=-1}^{\infty} \frac{1}{n+1} {}_B E_{n+1}^{(k, 1)}(r+1, y; u, \lambda) \frac{t^n}{n!} \\ &\quad - \frac{u}{Li_k(1 - e^{-(1-u)})} \sum_{n=-1}^{\infty} \frac{1}{n+1} {}_B E_{n+1}^{(k, 1)}(r, y; u, \lambda) \frac{t^n}{n!}. \end{aligned}$$

Comparing the coefficients of $\frac{t^n}{n!}$ yields the theorem.

The next theorem contains the derivative formula for ${}_B E_j^{(k,\alpha)}(r, y; u; \lambda)$ of order α with respect to r .

Theorem 3.5. *The r -Bell-based Apostol-Frobenius-Type Poly-Euler polynomials ${}_B E_j^{(k,\alpha)}(r, y; u; \lambda)$ of order α satisfy the derivative formula*

$$\frac{\partial}{\partial r} {}_B E_n^{(k,\alpha)}(r, y; u, \lambda) = n {}_B E_{n-1}^{(k,\alpha)}(r, y; u, \lambda).$$

Proof. . By applying the first derivative to both sides of (2.1) with respect to r , we have

$$\begin{aligned} \frac{\partial}{\partial r} \sum_{n=0}^{\infty} {}_B E_n^{(k,\alpha)}(r, y; u, \lambda) \frac{t^n}{n!} &= \frac{\partial}{\partial r} \left(\frac{Li_k(1 - e^{-(1-u)})}{\lambda e^t - u} \right)^{\alpha} e^{rt+y(e^t-1)} \\ \sum_{n=0}^{\infty} \frac{\partial}{\partial r} {}_B E_n^{(k,\alpha)}(r, y; u, \lambda) \frac{t^n}{n!} &= \left(\frac{Li_k(1 - e^{-(1-u)})}{\lambda e^t - u} \right)^{\alpha} e^{rt+y(e^t-1)} t \\ &= t \sum_{n=0}^{\infty} {}_B E_n^{(k,\alpha)}(r, y; u, \lambda) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} {}_B E_n^{(k,\alpha)}(r, y; u, \lambda) \frac{t^{n+1}}{n!} \\ &= \sum_{n=1}^{\infty} n {}_B E_{n-1}^{(k,\alpha)}(r, y; u, \lambda) \frac{t^n}{n!}. \end{aligned}$$

Comparing the coefficients of $\frac{t^n}{n!}$ completes the proof of the theorem.

Remark 3.6. *This relation shows that ${}_B E_n^{(k,\alpha)}(r, y; u, \lambda)$ can be classified as an Apell Polynomial.*

The next theorem contains the derivative formula for ${}_B E_j^{(k,\alpha)}(r, y; u; \lambda)$ of order α with respect to y .

Theorem 3.7. *The r -Bell-based Apostol-Frobenius-Type Poly-Euler polynomials ${}_B E_j^{(k,\alpha)}(r, y; u; \lambda)$ of order α satisfy the derivative formula*

$$\frac{\partial}{\partial y} {}_B E_n^{(k,\alpha)}(r, y; u, \lambda) = n \left({}_B E_{n-1}^{(k,\alpha)}(r+1, y; u, \lambda) - {}_B E_{n-1}^{(k,\alpha)}(r, y; u, \lambda) \right).$$

Proof. By applying the first derivative to both sides of (2.1) with respect to y , we have

$$\sum_{n=0}^{\infty} \frac{\partial}{\partial y} {}_B E_n^{(k,\alpha)}(r, y; u, \lambda) \frac{t^n}{n!} = \left(\frac{Li_k(1 - e^{-(1-u)})}{\lambda e^t - u} \right)^{\alpha} e^{rt+y(e^t-1)} (e^t - 1)$$

$$\begin{aligned}
&= \left(\frac{Li_k(1 - e^{-(1-u)})}{\lambda e^t - u} \right)^\alpha e^{(r+1)t+y(e^t-1)} - \left(\frac{Li_k(1 - e^{-(1-u)})}{\lambda e^t - u} \right)^\alpha e^{rt+y(e^t-1)} \\
&= \sum_{n=0}^{\infty} {}_B E_n^{(k,\alpha)}(r+1, y; u, \lambda) \frac{t^n}{n!} - \sum_{n=0}^{\infty} {}_B E_n^{(k,\alpha)}(r, y; u, \lambda) \frac{t^n}{n!} \\
&= \sum_{n=0}^{\infty} \left\{ {}_B E_n^{(k,\alpha)}(r+1, y; u, \lambda) - {}_B E_n^{(k,\alpha)}(r, y; u, \lambda) \right\} \frac{t^{n+1}}{n!} \\
&= \sum_{n=1}^{\infty} n \left({}_B E_{n-1}^{(k,\alpha)}(r+1, y; u, \lambda) - {}_B E_{n-1}^{(k,\alpha)}(r, y; u, \lambda) \right) \frac{t^n}{n!}.
\end{aligned}$$

Comparing the coefficients of $\frac{t^n}{n!}$ completes the proof of the theorem.

4. Conclusion

This study introduces a novel class of Frobenius-Euler polynomials by leveraging the mathematical structures of Bell numbers, Apostol-type functions, and the polylogarithm concept. Through rigorous analytical methods, we have successfully derived generating functions that serve as powerful tools in understanding higher-order Apostol-Frobenius-Type Poly-Euler polynomials. These generating functions facilitate the formulation of both explicit and implicit summation formulas, which further contribute to the mathematical characterization of these polynomials.

Additionally, the study establishes symmetric identities that reveal deep interconnections among these polynomials, highlighting their structural complexity and mathematical significance. These identities not only enhance the understanding of polynomial relationships but also provide a unified framework for exploring new properties and potential generalizations.

The integration of these mathematical components offers fresh insights into combinatorial and algebraic mathematics, broadening the scope of applications for Poly-Euler polynomials in various domains, such as number theory, discrete mathematics, and computational algebra. The results of this study serve as a foundation for further theoretical developments, inviting future research to extend these findings into new mathematical territories, including special functions, recurrence relations, and their computational applications.

References

- [1] M. Abramowitz and I.A. Stegun, *Handbook of Mathematical Functions*, Dover, New York, 1970.
- [2] Agoh T., Convolution identities for Benoulli and Genocchi polynomials, *Electronic J. Combin.* 21 (2014), Article ID P1.65.

- [3] Alam, N., Khan, W.A., and Ryoo, C.S., A Note on Bell-Based Apostol-Type Frobenius-Euler Polynomials of Complex Variable with Its Certain Applications, *Mathematics*, **2022**, 10(12), 2109.
- [4] Alam, N., Khan, W. A., Obeidat, S., Muhiuddin, G., Diab, N.S., Zaidi, H.N., Altaleb, A. and Bachioua, L., A note on Bell-based Bernoulli and Euler polynomials of complex variable. *Computer Modelling in Engineering and Sciences*. 153(1) (2023),187-209.
- [5] Alam, N., Khan, W.A., Kizilates, C., Obeidat, S., Ryoo, C.S. and Diab, N.S., Some explicit properties of Frobenius-Euler-Genocchi polynomials with applications in computer modeling. *Symmetry*, (2023), 15:1358, 1-20.
- [6] Appell, P. and Kampé de Fériet, J., Polynome d'Hermite, *Fonctions Hypergéométriques et Hypersphériques*, Gauthier-Villars, Paris, 1926.
- [7] Apostol T.M., On the Lerch zeta function, *Pacific J. Math.* 1 (1951), 161–167.
- [8] Araci, S., Novel identities involving Genocchi numbers and polynomials arising from application of umbral calculus, *Appl. Math. Comput.*, **233**(2014), 599–607.
- [9] Araci, S., Sen, E., and Acikgoz, M., Theorems on Genocchi polynomials of higher order arising from Genocchi basis, *Taiwanese J. Math. Math. Sci.*, **18**(2) (2014), 473–482.
- [10] Araci, S., Khan, W.A., Acikgoz, M., Ozel, C. and Kumam, P., A new generalization of Apostol type Hermite-Genocchi polynomials and its applications, *Springerplus*, **5**(2016), Art. ID 860.
- [11] Araci, S., Acikgoz, M. and Sen, E., Some new formulae for Genocchi numbers and polynomials involving Bernoulli and Euler polynomials, *Int. J. Math. Sci.*, **2014**(2014), Article ID 760613.
- [12] Ayed, A., Khan, W.A., Ryoo, C.S., Certain properties on Bell-based Apostol-type Frobenius-Genocchi polynomials and its applications. *Advanced Mathematical Models and Applications*, 1(8) (2023), 92-107.
- [13] Ayed, A., Khan, W.A., Ryoo, C.S., Certain properties on Bell based Apostol-Frobenius-Genocchi polynomials of complex variables. *Journal of Mathematics and Computer Science*, 33(3) (2024), 326-338.
- [14] Bayad, A. and Hamahata, Y., Polylogarithms and Poly-Bernoulli Polynomials, *Kyushu J. Math*, **65**(2011), 15–24.
- [15] Comtet, L. (1974). *Advanced Combinatorics*, Reidel, Dordrecht, The Netherlands.
- [16] Corcino, C. and Corcino, R., Higher Order Apostol-Type Poly-Genocchi Polynomials with Parameters a, b and c , *Communication of the Korean Mathematical Society*, Volume 36(3) (2021), 423-445.
- [17] Corcino, R. and Corcino, C., Generalized Laguerre-Apostol-Frobenius-Type Poly-Genocchi Polynomials of Higher Order with Parameters a, b and c , *European Journal of Pure and Applied Mathematics*, 15(4) (2022), 1549-1565.
- [18] Corcino, R. and Corcino, C., Degenerate Apostol-Frobenius-Type Poly-Genocchi Polynomials of Higher Order with Parameters a and b , *European Journal of Pure and Applied Mathematics*, 16(2) (2023), 687-712.
- [19] Corcino, R., Corcino, C., Casas, K., Elnar, A., Maglasang, G., Construction of Fourier Series Expansion of Apostol-Frobenius-Type Tangent and Genocchi Polynomials of

- Higher-order, European Journal of Pure and Applied Mathematics, 16(2) (2023), 1005-1023.
- [20] Corcino, R. and Corcino, C., Higher Order Apostol-Frobenius-Type Poly-Genocchi Polynomials with Parameters a, b and c , *Journal of Inequalities and Special Functions*, **12**(3) (2021), 54–72.
 - [21] He, Y., Araci S., Srivastava H.M. and Acikgoz M., Some new identities for the Apostol-Bernoulli polynomials and the Apostol-Genocchi polynomials, *Appl. Math. Comput.* 262 (2015), 31-41.
 - [22] He, Y., Some new results on products of the Apostol-Genocchi polynomials, *J. Comput. Anal. Appl.* 22 (4) (2017), 591-600.
 - [23] He, Y. and Kim, T., General convolution identities of Apostol-Bernoulli, Euler and Genocchi polynomials, *J. Nonlinear Sci. Appl.* 9 (2016), 4780-4797.
 - [24] Hu, S., Kim, D. and Kim, M.S. , New Identities Involving Bernoulli, Euler and Genocchi Numbers, *Advances in Difference Equations*, 74(2013).
 - [25] Mezo, I., The r -Bell Numbers, *Journal of Integer Sequences*, 14 (2011), Article 11.1.1.
 - [26] Mezo, I. and Corcino, R., The Estimation of the Zeros of the Bell and r -Bell Polynomials, *Applied Mathematics and Computations* (Elsevier), 250 (2015), 727-732.
 - [27] Khan, W.A., Alatawi, M.A., Duran, U., Applications, and properties of r -Bell-based Frobenius-type Eulerian polynomials. *Journal of Function Spaces*. (2023). Volume 2023, Article ID 5205867, 10 pages.
 - [28] Khan, W. A., Younis, J., Nadeem, M., Construction of partially degenerate Bell-Bernoulli polynomials of the first kind, *Analysis*, 43(3) (2022), 171-184.
 - [29] Kim T., Jang, Y.S. and Seo, J.J., A note on poly-Genocchi numbers and polynomials, *Applied Mathematical Sciences*. 8 (2014), 4775-4781. <http://dx.doi.org/10.12988/ams.2014.46465>.
 - [30] Kim, D.S., Dolgy, D.V., Kim, T. and Rim, S.H., Some Formula for the Product of Two Bernoulli and Euler Polynomials, *Abstract and Applied Analysis*. **2012**, Article ID 784307, 15 pages.
 - [31] Kim T., Rim. S.H., Dolgy D.V. and Lee S.H., Some identities of Genocchi polynomials arising from Genocchi basis, *J. Ineq. Appl.* 2013 (2013), Article ID 43.
 - [32] Kim T., Some identities for the Bernoulli, the Euler and the Genocchi numbers and polynomials, *Adv. Stud. Contemp. Math.* 20 (1) (2010), 23-28.
 - [33] Kim, D.S.; Kim, T. Some new identities of Frobenius-Euler numbers and polynomials. *J. Inequal. Appl.* 2012, 2012, 307.
 - [34] Khan, W.A. and Srivastava, D., On the generalized Apostol-Frobenius-Type poly-Genocchi polynomials, *Filomat*, 33(7) (2019), 1967–1977.
 - [35] Kurt, B. and Symsek, Y., On the generalized Apostol type Frobenius-Euler polynomials, *Advances in Difference Equation*, 2013, 1, (2013), 1-9.
 - [36] Lee, D.W., On multiple appell polynomials. *Proc. Amer. Math. Soc*, 139 (2011), 2133-2141.
 - [37] Lou Q.M., Guo B.N., Qi F. and Debnath L., Generalizations of Bernoulli Numbers and Polynomials, *Int. J. Math. Math. Sci.*, 59 (2003), 3769–3776.
 - [38] Shohat, J., The Relation of the Classical Orthogonal Polynomials to the Polynomials

of Appell, *Amer. J. Math.*, **58** (1936), 453–464.

- [39] Thomas G., Weir M., Hass J. and Giordano F., Thomas' Calculus, 11th edn. Pearson Education, Inc., 2005.